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CeofHble faHHblE
Kypc 1 Kypc 2
Wrtoro
cem. 1| cem. 2| Beero | cem. 3| cem. 4| Bcero
Teopetuyeckoe obyueHve 155/6| 7 1/6 23 15/6 | 51/6 7 30
3 |3K3aMeHauMOoHHbIe CECCHMKA 1 2 ] 1 1 2 5
N |Npou3BoacTBEHHaA NPaKTUKa 2 16 18 17 15 32 50
r MoAroToBKa K cAaYe W CAaya rocyAapcTBeHHOro 2 ) 2
3K3aMeHa
K |KaHukynbi 2 4 6 1 6 7 13
. Hepabouune npasaHrdHbe AHKU (HE BrKYaA 11/6 5/6 2 11/6 5/6 2 4
BOCKpECEHBA) (7 an) | (5 mR) (12 aH)| (7 aH) | (5 an) (12 aH)|(24 OH)

MpoaCMKUTENEHOCTE 0BYUEHUA

(He BKOHas Hepaboume NPasfaHUUHBIE AHK U KaHWKynbl) DOJiEE LR 1R Oonee Joied
Wroro 22 30 52 22 30 52 104
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